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The circumference C of a circle with radius 7 can be calculated using the formula C' = 2arr. Which

formula represents r in terms of C'?

A r=2xC
B r=C—-2n
_ Cx
C.r= 2
D. T:g




B. A set production designer creates a right circular cylindrical pillar The designer knows the amount of
material used for the surface of the pillar and needs to find the height for a reinforcement rod.

Use A = (2nr)h + 712, where r represents the radius, h represents the height of the pillar, and A
represents the surface area of the pillar. What is a formula for h in terms of the other variables that can be
used to find the height?

A h=

A—nr?

27r
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A circular pool of water i shrinking as it drains. The diagram shows the shrinkage.
3

]

r

Aformua for the area, A, of the circular poolis given by the equation A = nfr-3)%

Which is a formula for 2

A r=v@——3
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The diagram represents a bridge over a river with an opening for boats to pass under the bridge.

xft

18 ft
rft

6ft

The area, A, of the side view is given by A = 182 — 0.57r?. Which equation, in terms of A and ¥,

represents the radius, r, of the bridge opening?

A {18z-4
2
B . [A-1se
r= 0.5
C. .- [l _
T= Vs 4
3 D, _ {2(182—4)
s

6 ft

18 ft
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